
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10.511 × ________ = 1051.1 8.199 × ________ = 819.9

6.605 × ________ = 6605 10.964 × ________ = 1096.4

7.593 × ________ = 75.93 6.314 × ________ = 63.14

10.033 × ________ = 10033 7.558 × ________ = 7558

1.345 × ________ = 134.5 7.386 × ________ = 73.86

9.448 × ________ = 9448 6.357 × ________ = 6357

3.061 × ________ = 306.1 1.682 × ________ = 16.82

10.928 × ________ = 109.28 9.928 × ________ = 992.8

8.708 × ________ = 870.8 7.066 × ________ = 70.66

7.054 × ________ = 705.4 4.686 × ________ = 468.6
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10.511 × 100 = 1051.1 8.199 × 100 = 819.9

6.605 × 1000 = 6605 10.964 × 100 = 1096.4

7.593 × 10 = 75.93 6.314 × 10 = 63.14

10.033 × 1000 = 10033 7.558 × 1000 = 7558

1.345 × 100 = 134.5 7.386 × 10 = 73.86

9.448 × 1000 = 9448 6.357 × 1000 = 6357

3.061 × 100 = 306.1 1.682 × 10 = 16.82

10.928 × 10 = 109.28 9.928 × 100 = 992.8

8.708 × 100 = 870.8 7.066 × 10 = 70.66

7.054 × 100 = 705.4 4.686 × 100 = 468.6
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